Comparing Number Sentences

Which equation matches the sentence?
Color in the bubble next to the correct answer.

1. Thirty is greater than nine.

O 30>9 O 30=9 O 30<9

2. Twenty is less than twenty-one.
O 20<21 O 20>21 O 20=21

3. Eight is equal to eight.
O 8>8 O 8<8 O 8=8

4. Seventeen is less than twenty.

O 17<20 O 17>20 O 17=20

S. Ninety is greater than nineteen.
O 90>19 O 90=19 O 90<19

6. One is equal to one.

O 1>1 O 1=1 O 1<1

/7. Fifty is greater than thirty.
O 50=30 O 50>30 O 50<30

8. Five is equal to five.
O 5<5 O 5<5 O 5=5
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